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= (Fm2)[ (Fm2)| (%) [(Fm3)|[(Fm3)| (%) | (Fm2)| (Fm2)| (%) | (Fm3)| (Fm3)| (%) | (Frt2)| (Fr)| ([E])
30 10,243| 5,864| 57.2 586 86| 14.7 642 253 39.4 | 1,733 793| 458 |37,041|36,815| 6.4
JT 10,640| 6,208| 58.3 610 94| 154 657| 259| 394 | 1,736 793| 45.7 | 37,184| 37,053 6.3
2 10,925( 6,411| 58.7 638 103| 16.1 660| 246 37.3| 1,738 762 43.8 | 34,946| 35,231| 6.1
3 11,303 6,795| 60.1 737 176 23.9 678| 247| 364 | 1,729 810| 46.8 |40,142| 39,610 6.3
g 11,658| 7,713| 66.2 6921 111] 16.0 592 250 42.2 | 1,843| 887| 48.1 | 40,985|40,473| 5.7
starEgEke| 103.1] 113.5 93.9| 631 87.3] 101.2 106.6] 109.5 102.1] 102.2
E %0 | 6,724| 4296] 639 648 86| 13.3| 386 125| 32.4| 1,362| 694| 51.0/19,809]|19,713| 6.3
4 %% [# | 2,868 1,958 68.3 16 71 438 20 2| 100 319 95| 29.8]12,921]| 12,793 6.2
l]li E 687 516] 751 0 0 0.0 0 0 0.0 0 0 0.0 1,558 1,530 7.5
= E | 1,136] 755 665 15 9] 60.0) 184 122| 66.3 157 96 61.1] 5,835| 5584 3.4
*EEH H 243 188 774 13 9] 69.2 2 1] 50.0 5 2| 400 862 853 7.1
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MEEH | NS | FAE | g RvEe | B=ane
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FEH
g A\ Fmd) | Fmd) | o0 | ) | ) | @ (%)
30 3,264 1,013 31.0 2,316,118 | 2,310,337 1.2 30.1
JT 3,314 939 28.3 2,391,963 | 2,398,397 1.2 31.0
2 3,339 881 26.4 2,465,571 | 2,449,166 1.6 31.7
3 3,279 847 25.8 2,169,613 | 2,192,599 6.2 29.2
it 3,339 913 273 2,179,063 | 2,153,640 6.9 30.0
swesee|  101.8 107.8 100.4 98.2
Z Al 1,805 509 28.2 1,405,799 | 1,392,952 8.3 29.0
4 | 7% R 1,256 329 26.2 668,616 654,856 9.5 31.2
Iz B 37 8 21.6 9,567 12,378 4.1 20.6
=F 193 60 31.1 84,212 82,622 4.1 31.6
128 3 48 7 14.6 10,869 10,832 4.0 35.9

I () BEFERRICEIEHESY,

(2) PIERAD=OEEADRNEENDH S,

() FAR=
(4) FENEYEEZH=

AEE(E)IE

e

(IR

-

X100

41 E_I_ =

1 =

FERNARTHERERS X2




